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WBCS Preliminary Exam Practice Set
Answers with Explanation

1. (c) Refurbish – to restore and decorate; Portend –
xÖ¦þ ö„þyöì̃ y !„þŠ%éîû þ™)îÅy¦þy¢ ö”çëûyÐ

2. (b) Aftermath – Consequences of an event
specially an unpleasant one.

3. (c) Abeyance – state of suspencion or temporary
inactivity.

4. (a)
5. (a)
6. (c) ashmedéôé~îû þ™öìîû of îöì¢Ð
7. (c) 'owing to' £œ ~„þ!Ýþ prepositional phrase, ~öìÇþöìe

~îû xíÅ öîyGþyëû ò„þyîûöì’óÐ
8. (b) Proud of – †!îÅ“þ– Pride in – x£‚„þyîû– Pride on–

†îÅöìîy• „þîûyÐ
9. (b) Cozen means – Cheat; Wane– £Éy¢ þ™yçëûy îy Çþëû

þ™yçëûyÐ
10. (d) Frugality means – Economy
11. (c) Succor means – to assist, aid
12. (d) Celerity means – quickness, rapidity of motion
13. (c) Sub rosa – privately, secretly; ~…yöì̃ foreign

words ~îû xíÅ ö”çëûy xyöìŠéÐ
14. (d) proximo – of next month
15. (b) Correct : I could not find him anywhere.
16. (a) Correct : You, he and I are neighbours.
17. (a) Correct : The boat was sunk in the river.
18. (a) Have kitten – to be very anxious or nervous

about something.
19. (b) To bury the hatchet – to make peace.
20. (c) To make much ado about nothing – to

exaggerate.
21. (c) Stolen a march on – gained an advantage.
22. (b) Continual – going on with short breaks.
23. (c)
24. (b) Bail out means – to rescue someone or

something out of a difficulty.
25. (b) Rout – to defeat somebody completely in a

battle of competition, Insinuate – xy¦þyöì¢ £z!Döì“þ
îœy îy „þyöìîûy x˜%@ùÌ£ œy¦þ „þîûy

26. (b)
27. (c)
28. (c) ö”Ÿœy£z îyöì:îû †yöìëû œyœ šþ¢šþîûy¢– xÄy!rÝþ›!˜ ¢yœšþy£zvþ

ç „þyöì‰þîû =¤öìvþüy íyöì„þÐ ö”Ÿœy£z „þy!àþöì“þ xÄy!rÝþ›!˜ ¢yœšþy£zvþ
(Sb

2
S

3
) ç ‹yîû„þ þ™”yíÅ K

2
Cr

2
O

7
xíîy KClO

4
íyöì„þÐ

29. (c)
30. (d)
31. (b)
32. (a)
33. (d) îûyÜTÉþ™!“þ x!vÅþ˜Äyª ‹y!îû „þîûöìœ ö¢!Ýþ 6 ›y¢ þ™ëÅhsþ „þyëÅ„þîû

íyöì„þÐ
34. (a)
35. (a)
36. (c) 3 vþ‹˜ = 36!Ýþ „þœyîû ö›yÝþ e«ëû›)œÄ = 2 × 36 = 72

Ýþy„þy

20!Ýþ „þœyîû !îe«ëû›)œÄ 100 15
20 2

100


  

2 115
46

5


   Ýþy„þy

36 – 20 = 16!Ýþ „þœyîû !îe«ëû›)œÄ

100 20 120 192
16 2 4 2

100 25 5


      

ö›yÝþ !îe«ëû›)œÄ 192
46

5
   
 

 Ýþy„þy

œy¦þ
192 192

46 72 26
5 5

          
   

 Ýþy„þy

192 130 62

5 5


   Ýþy„þy

 œy¦þ

62
62 100 155 25 100% % % 17 %

72 5 72 9 9


    



37. (c)
38. (a)
39. (b)

40. (c) öÝþÆ̃ !Ýþ 17 ö¢öì„þöìuþ !˜öì‹îû ÷”‡ÅÄ x!“þe«› „þöìîû ~î‚ 32

ö¢öì„þöìuþ !˜öì‹îû ÷”‡ÅÄ ~î‚ ²ÕÄyÝþšþöì›Åîû ö›yÝþ ÷”‡ÅÄ x!“þe«›
„þöìîûÐ ¢%“þîûy‚ 32 – 17 = 15 ö¢öì„þöìuþ öÝþÆ̃ !Ýþ ²ÕÄyÝþšþöì›Åîû
÷”‡ÅÄ x!“þe«› „þöìîûÐ
~…˜– ²ÕÄyÝþšþöì›Åîû ÷”‡ÅÄ 175 !›Ýþyîû
 öÝþÆ̃ !Ýþîû †!“þöìî†

175 175 18
42

15 15 5
     !„þ!›/‡ ù̂Ýþy

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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41. (a)
42. (c)
43. (d) †“þ!”öì̃ îû xyöì†îû !”˜ !Šéœ îû!îîyîûÐ ¢%“þîûy‚– xy‹ ›Dœîyîû–

xy†y›# !”öì̃ îû þ™öìîûîû !”˜ £öìî î,£ßþ™!“þîyîûÐ
î,£ßþ™!“þîyîû + 3 !”˜ = îû!îîyîûÐ

44. (c)
45. (d)
46. (a)
47. (a)
48. (d) öœy£y (Fe) ²Ì”_ xÄy!¢vþ=!œîû ¢öìD !î!e«ëûy „þöìîû ˜y

xíÅyê oî#¦)þ“þ £ëû ˜yÐ
49. (b) ²Ìí› £zDéôé!Ÿ… ë%öìkþîû þ™îû !Ÿ… ç £z‚öìîû‹öì”îû ›öì•Ä ßþºyÇþ!îû“þ

£öìëû!ŠéœÐ
50. (b)
51. (a) PTI “þy!œ„þy¦%þ_« £ëû 27 xy†ÞÝþ 1947éôé~ ~î‚ „þyëÅ„þîû#

£ëû 1 öšþîÊ&ëûy!îû 1949 öíöì„þÐ ~!Ýþ ¦þyîûöì“þîû î,£_› ¢‚îy”
¢‚ßþiyÐ

52. (c)
53. (c)
54. (d)
55. (b) 3630 Ýþy„þyîû 1 îŠéöìîûîû ¢%” (3993 – 3630) = 363 Ýþy„þy

 ¢%öì”îû £yîû
100 363

% 10%
3630


 

²ÌÙÀy˜%¢yöìîû–
2

10 11 11
P 1 3630 P

100 10 10

       

= 3630  P = 3000
 xy¢œ = 3000 Ýþy„þyÐ

56. (b)
57. (c) 3046 – 31 = 3015, 5077 – 37 = 5040

3015, 5040
 603, 1008
   67, 112

5
9

 !˜öì’Åëû î,£_› ¢‚…Äy = 5 × 9 = 45
58. (b)
59. (a)
60. (c)
61. (c) B  2, A  1, D  4

M  13, A  1, N  14
62. (a)
63. (b)
64. (c)
65. (d)
66. (b)

67. (c)
68. (a)
69. (d) öŸ¡ì 15 !”˜ îûy› ~„þy „þy‹!Ýþ „þîûöìœ– 60 !”öì̃  „þy‹!Ýþ öŸ¡ì

£ëûÐ
 60 – 15 = 45 !”˜ îûy› ç ŸÄy› ~„þöìe „þy‹!Ýþ „þöìîûÐ

”%‹öì̃  ~„þöìe 1 !”öì̃  ¢Á™§¬ „þöìîû ö›yÝþ „þyöì‹îû
1

54
 x‚Ÿ

 ”%‹öì̃  ~„þöìe 45 !”öì̃  ¢Á™§¬ „þöìîû
45 5

54 6
  x‚Ÿ

 îy!„þ „þy‹
5 1

1
6 6

    
 

 x‚ŸÐ

xíÅyê
1

6
x‚Ÿ „þy‹ îûy› 15 !”öì̃  „þöìîûÐ

 ¢Á™)’Å „þy‹!Ýþ îûy› 15 × 6 = 90 !”öì̃  „þîûöìîÐ
 ŸÄy› ~„þy „þy‹!Ýþ „þîûöìî

54 90 54 90
135

90 54 36

 
  


!”öì̃

70. (c) ¦þyîûöì“þîû xíÅ̃ #!“þ £œ !›× xíÅ̃ #!“þ– ~…yöì˜ Public

sector ~î‚ private sector ~„þ£z ¢öìD xîßþiy˜ „þöìîûÐ
71. (b)
72. (a)
73. (b) xÄyœîyÝþÆ¢ ~„þ›ye !Ÿ„þy!îû ¢y›%!o„þ þ™y!… îy!„þîûy ›)œ“þ

!Ÿ„þy!îû ßþiœ‹ þ™y!… ~î‚ ¦þyîû“þ#ëû ¦)þ…öì[þ ¢‰þîûy‰þîû
xÄyœîyÝþÆ¢öì„þ ö”…y ëyëû ˜yÐ

74. (a)
75. (d)
76. (d)
77. (c) ¢›%öìoîû ‹öìœîû ‡˜c öî!Ÿ £çëûyëû ²Õî“þy öî!Ÿ £ëûÐ ö¢£z

„þyîûöì’ ‹y£y‹ !„þŠ%éÝþy çþ™öìîû ö¦þöì¢ çöìàþÐ
78. (d) î•Å›y˜öì„þ þ™!Øþ›îöìDîû ò•yöì̃ îû ö†yœyó îœy £ëûÐ
79. (d) þ™yœ î‚öìŸîû ö×Ûþ ˜îûþ™!“þ !Šéöìœ˜ •›Åþ™yœ ~î‚ þ™yœ î‚öìŸîû

²Ì!“þÛþy“þy !Šéöìœ˜ ö†yþ™yœÐ
80. (d)

81. (a) •îûy ëy„þ– ößþËyöì“þîû x %̃„)þöìœ ¢›ëû œyöì† t
1
= 8 ‡ ù̂Ýþy– ²Ì!“þ„)þöìœ

¢›ëû œyöì† t
2
= 12 ‡ ù̂ÝþyÐ

ößþËyöì“þîû öî† (y) = 2 !„þ!›/‡ ù̂Ýþy
!ßþiîû ‹öìœ ö˜ï„þyîû †!“þöìî†

1 2

2 1

y(t t ) 2(8 12)
10

t t 12 8

 
  

 
!„þ!›/‡ ù̂Ýþy

ößþËyöì“þîû x˜%„)þöìœ †!“þöìî† = 10 + 2 = 12 !„þ!›/‡ ù̂Ýþy
ö˜ï„þy!Ýþ ößþËyöì“þîû x˜%„)þöìœ 8 ‡ ù̂Ýþyëû ëyëû = 12 × 8 = 96

!„þ!›
82. (b)
83. (d)

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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84. (b) ~!Ýþîû ÷”‡ÅÄ 6 !„þ!›– „þy¨y˜%îû öíöì„þ vþz£z!œ‚Ýþ˜ m#þ™ þ™ëÅhsþ

!îhß+þ“þÐ
85. (c) xy›îûy ‹y!˜–

12 + 22 + 32 + .... + n2 =
1

6
n(n + 1)(2n + 1)

 72 + 82 + 92 + .... + 152

= 12 + 22 + 32 + .... + 152 – (12 + 22 + 32 + ....
+ 62)

=
1

6
× 15 × (15 + 1)(2 × 15 + 1) –

1

6
× 6 ×

(6 + 1) × (2 × 6 + 1)
= 1240 – 91 = 1149

86. (b)
87. (d)
88. (a) îy!„þ=!œ ¢%”)îû²Ì¢yîû# „þyîû’ !ŠéœÐ
89. (a)
90. (c)
91. (c)
92. (b)
93. (c) ¢î%öì‹îû xyöìœyëû ¢yöìœy„þ¢‚öìÙÕöì¡ìîû £yîû ¢îöì‰þöìëû „þ›– œyœ

xyöìœyëû ¢îöì‰þöìëû öî!ŸÐ
94. (b)
95. (c) National Commission for Women Act, 1990

x˜%ëyëû# ‹y“þ#ëû ›!£œy „þ!›Ÿ˜ †!àþ“þ £ëû 1992 ¢yöìœîû
‹y˜%ëûy!îû ›yöì¢Ð ‹y“þ#ëû ›!£œy „þ!›Ÿöì̃ îû ²Ìí› ö‰þëûyîû›Äy˜
!Šéöìœ˜ ‹ëûhsþ# þ™R˜yöìëû„þÐ

96. (d) ˜y›öì”î éôôôé ”!‹Å– „þî#îû éôôôé “¤þy!“þ– îû!î”y¢ éôôôé ›%!‰þ– ö¢˜y
éôôôé ˜y!þ™“þÐ

97. (b)
98. (a) œ¦þÄy‚öìŸîû x˜%þ™y“þ 15 : 16 : 22, !î!˜öìëûyöì†îû x˜%þ™y“þ

3 : 4 : 11

 ¢›öìëûîû x˜%þ™y“þ
15 16 22

: : 5:4:2
3 4 11
 

99. (c)
100. (a) ö„þyöì“þyëûyœ éôôôé ¢îû„þyöìîûîû xy£z̃  !˜ëûsþf„þ– !Ÿ„þ”yîû éôôôé

þ™îû†˜yîû ²ÌŸy¢!˜„þ ²Ì•y˜– ›%„þyj› éôôôé @ùÌyöì›îû ²Ì•y˜
101. (b) ö„þ ¢ysþiy˜y› „þ!›!Ýþîû ²Ìhßþyî x %̃ëyëû# 1964 ¢yöìœîû öšþîÊ&ëûy!îû

›yöì¢ CVC ßþiy!þ™“þ £ëûÐ CVC £œ ö”öìŸîû ¢öìîÅyF‰þ “þ”yîû!„þ
¢‚ßþiyÐ î“Åþ›yöì̃ CVCéôé~îû „þ!›Ÿ˜yîû !£¢yöìî !˜ë%_« îûöìëûöìŠé˜
ö„þ !¦þ ö‰þï•%!îûÐ

102. (d) (a) 16 ÷ 5 × 10 – 4 × 3

 16 – 5 + 10 ÷ 4 × 3 = 18
1

2
 14

(b) 16 ÷ 5 – 10 + 4 × 3
 16 – 5 ÷ 10 × 4 + 3 = 17  19

(c) 16 + 5 ÷ 10 – 4 × 3

 16 × 5 – 10 ÷ 4 + 3 = 80
1

2
 12

(d) 16 + 5 – 10 × 4 ÷ 3
 16 × 5 ÷ 10 + 4 – 3 = 9

103. (d)
104. (c)

105. (c) þ™yëûîûyîû ö”£öì„þyöìŸ 40 ö‹yvþüy– ›y˜î ö”£öì„þyöìŸ 23 ö‹yvþüy–
!ŸÁ™y!Oîû ö”£öì„þyöìŸ 24 ö‹yvþüy ~î‚ „%þ„%þöìîûîû ö”£öì„þyöìŸ
39 ö‹yvþüy öe«yöì›yöì‹y› íyöì„þÐ

106. (c)
107. (a) 1931 ¢yöìœîû 17 !vþöì¢Áºîû x•Äyþ™„þ !þ™ !¢ ›£yœy˜!îŸ

„þœ„þy“þyöì“þ ISI ßþiyþ™˜ „þöìîû!Šéöìœ˜Ð ¦þyîûöì“þ ISI ßþiy!þ™“þ
xyöìŠé éôôôé „þœ„þy“þy– !”!ÍÔ– öîDyœ%îû&öì“þÐ ISI ~îû ²Ì•y˜
„þyëÅyœëû „þœ„þy“þyöì“þ xî!ßþi“þÐ ¦þyîûöì“þîû ²Ìí› £zöì„þœÝþÆ!˜„þ
„þ!Á™vþzÝþyîû ISIéôéö“þ ‰þyœ% £öìëû!ŠéœÐ

108. (b)
109. (b) ö„þîûœééôôôéxy!”ëûy›– „þy›îûyîû– ›yœy£z¢– þ™!ÍÔëûyîû– !¢!„þ›éôôôé

öœþ™‰þy– ¦%þ!Ýþëûy— îûy‹ßþiy˜éôôôé ¦þ#œ– ”yöì›yîû– !›˜y– ¢yœy!îûëûy

110. (d) 3

4

2 6 5

3 7 6

+1 +1 +1 +1

4

5

6 7 3

7 8 4

+1 +1 +1 +1

111. (a)
112. (a)
113. (c)
114. (b)
115. (b) î,£_› ¢‚…Äy éôôôé Ç%þo“þ› ¢‚…Äy

= 4210 – 1024 = 3186
116. (c)
117. (b)
118. (c)
119. (d) FEMA éô é~îû þ™)’Å îû*þ™!Ýþ £œ Foreign Exchange

Management Act.
120. (b)
121. (a)
122. (b)
123. (b)
124. (d) 5 îŠéöìîûîû ¢%” = 8400 – 7000 = 1400 Ýþy„þy

100I 100 1400
r 4%

PT 7000 5


   


125. (d) ~£z ¢!õþîû myîûy 1748 !…Êƒ ²Ìí› „þ’ÅyÝþ„þ ë%kþ ßþi!†“þ £öìëû!ŠéœÐ
126. (c) ßþºöì”Ÿ!›e› éôôôé ›yoy‹– ˜ÄyŸ˜yœ öþ™þ™yîû éôôôé îy‚œy– œyöì£yîû

!ÝþÆ!îvþz̃  éôôôé þ™yOyî

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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127. (b)
128. (a) ”y!‹Å!œ‚éôôôé971, þ™)îÅ ö›!”˜#þ™%îûéôôôé960, ý†!œéôôôé958
129. (a)

130. (b)

öîûy!£“þ

²Ì”#þ™

×#›y
›y

öŠéöìœ
îûy!˜¦þy£zîû&›y ßþºy›# öîy˜¢%îœ

 öîûy!£“þ ¢%îöìœîû ¦þyöì@ÀÐ
131. (d) ŸB%þîû îe«“þöìœîû öÇþešþœ ­ x•Åöì†yœöì„þîû îe«“þöìœîû

öÇþešþœ [r = h]

= 2 2 2r :2 r :2r r h :2r    l l

2 2r r :2r 2r:2r 1: 2   
132. (b)
133. (b) ˜!”ëûy éôôôé öîí%ëûyvþ£!îû S£!îû’V– ”y!‹Å!œ‚ éôôôé îÍÔ¦þþ™%îû

x¦þëûyîû’Ä S£!îû’V
134. (b) £zöìœ„þÝþÆ̃ (e) ²Ìîyöì£îû šþöìœ£z “þ!vþüê²Ìîyöì£îû ¢,!ÜT £ëû ~î‚

£zöìœ„þÝþÆ̃ ²Ìîyöì£îû !îþ™îû#“þ !”öì„þ “þ!vþüê²Ìîy£ £ëûÐ
135. (c) îy!„þîûy ÷î!”„þ ë%öì†îû ›!£œy !Šéöìœ˜Ð
136. (d)
137. (b)
138. (b)
139. (d) ¦þyîûöì“þîû ‹y“þ#ëû š%þœ þ™pÐ
140. (b)

141. (c)
10 10log x 4log 2 2 

4
10 10log x log 2 2  

10

x x
log 2

16 16
  

2 16
10 x 0.16

100
   

142. (a) !‰þey˜%ëyëû#– AX = BY = (15 – 10) !›Ýþyîû = 5 !›Ýþyîû

5 !›.10 !›.

15 !›.

10 !›.15 !›.

X A
143. (a)
144. (b)

145. (a)
146. (a)
147. (d)
148. (a)
149. (b) î†ÅöìÇþe!Ýþîû öÇþešþœ î,!kþ þ™yëû

2

2 %
10

  
    

   
 þ

î,!kŸ“þ„þîûy î,!k

1
2 1 % 2.01%

100
     
 

150. (b)
151. (a)

152. (a) G
+2

I

L A M O U R
–2 +2 +1 –2 +2 –2

J C N M W P

T
+2

V

O P I C A L
–2 +2 +1 –2 +2 –2

M R J A C J

153. (b) öÙ»“þ îû_«„þ!’„þyîû „þ’yëû ö£þ™y!îûöì˜îû vþzþ™!ßþi!“þîû ‹˜Ä
îû_«îyöì£îû !îíöìîû îû_« “þ!Mþé“þ £ëû ˜yÐ ö£þ™y!îû̃  ö‹¤yöì„þîû
œyœyîûöì¢ î“Åþ›y˜Ð

154. (c)
155. (c)
156. (c) !˜îûÇþöìîû…yëû !”˜ ç îûy!e ¢›y˜Ð
157. (a) Ÿ“Åþy˜%¢yöìîû– 2x + 6x + 7x = 180°  x = 12°

 î,£_› ö„þy’ – 3 × Ç%þo“þ› ö„þy’
= 7x – 3 × 2x = x = 12°

158. (c)
159. (b)
160. (a)
161. (a)
162. (b) =‹îûyöìÝþîû xy˜¨ Ÿ£öìîû ”%?þ ¢!›!“þ †!àþ“þ £öìëûöìŠéÐ
163. (b)
164. (b) ›y£zöìÝþy„þ˜!vÈþëûy Ù»¢öì̃ îû ›y•Äöì› Ÿ!_« vþzêþ™§¬ „þöìîûÐ ~£z

„þyîûöì’ ~öì„þ ö„þyöìŸîû Ÿ!_«‡îû îœy £ëûÐ

165. (c) ¢›îyý !e¦%þöì‹îû îyýîû ÷”‡ÅÄ a ~„þ„þ £öìœ– vþzF‰þ“þy
3

a
2

~„þ„þÐ
!e¦%þ‹ ç î†ÅöìÇþöìeîû öÇþešþöìœîû x˜%þ™y“þ

2

23 3 3 3
a : a : 1: 3

4 2 4 4

 
    

 
166. (a)
167. (a)

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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168. (a)

169. (d) D +4 H L+4 +4 P

L

B

+4

+4

M

F

Q

J

+4

+4

+4

+4

U

N
170. (b)
171. (d)
172. (b)

173. (d) 13 19 71 9 128 32
4, 10, 20

8 8 8

  
  

174. (a)
175. (a)
176. (b) cos = sin

 cos = cos(90° – )
  = 90° – 
    = 90°
 sin    = sin90° = 1

177. (d) GTOéôé~îû þ™)’Å îû*þ™!Ýþ £œ Geosynchronous Transfer
Orbit.

178. (c)

179. (b)  42 = 7 × 6

 ~öìÇþöìe !˜öì’Åëû ›y˜ £öìî 7Ð
180. (a)
181. (a)
182. (a)
183. (c)
184. (c)
185. (d)

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

186. (c)
187. (b)
188. (a) !“þ!˜ £zëû‚öìîDöìœîû ²Ì!“þÛþy“þyÐ
189. (b) BEML Ltd. ~îû ˜“%þ˜ ö‰þëûyîû›Äy˜ ~î‚ ›Äyöì̃ !‹‚ !vþöìîûQîû

!£¢yöìî x!›“þ îÄy˜y!‹Åöì„þ !˜ë%_« „þîûy £œÐ
190. (a) Bajaj Auto ~îû ö‰þëûyîû›Äy˜ !£¢yöìî ˜#îû‹ îy‹y‹öì„þ !˜ë%_«

„þîûy £œÐ
191. (c) ¦þyîû“þ ç šÊþyöìªîû ›öì•Ä xyîûî ¢y†öìîû !mþ™y!Çþ„þ ö˜ï›£vþüy

'VARUNA-2021' x˜%!Ûþ“þ £œÐ
192. (b) ²Ìí› ²Ì„þy!Ÿ“þ 'Chandler Good Government Index

(CGGI) 2021' x˜%ëyëû# ¦þyîûöì“þîû ßþiy˜ 49“þ›Ð
193. (c) ²Ìí› ¦þyîû“þ#ëû ›!£œy !£¢yöìî 2021 ¢yöìœ 'WILD

Innovator Award' œy¦þ „þîûöìœ˜ „,þ!“þ ö„þ „þîûsþiÐ
194. (d) ßþ™y£z ¢ÄyöìÝþœy£zÝþ 'NROL-82' ›£y„þyöìŸ vþzêöìÇþþ™’ „þîûœ

›y!„Åþ˜ ë%_«îûyÜTÉÐ
195. (d) 2021 ¢yöìœ þ™%îû&¡ìöì”îû îyöì¢Åö ìœy˜y çöìþ™˜ öÝþ!˜¢

²Ì!“þöìëy!†“þy !‹“þœ îûyšþyöìëûœ ˜y”yœÐ
196. (c) 'E-Panchayat Puraskar 2021' !‹“þœ vþz_îû²Ìöì”ŸÐ
197. (b) 'Zhurong' ‰þ#öì̃ îû ²Ìí› öîûy¦þyîû ëy ›Dœ @ùÌöì£ ö²Ìîû’ „þîûy

£œÐ
198. (d) 2021 ¢yöìœîû !îÙ» ›Äyöìœ!îûëûy !”îöì¢îû !í›éôô 'Reaching

the zero malaria target' !îÙ» ›Äyöìœ!îûëûy !”î¢ 25

~!²Ìœ þ™yœ˜ „þîûy £ëûÐ
199. (c) 25 ~!²Ìœ çëûyÓÅþ öþ™D%£z̃  övþ þ™yœ˜ „þîûy £œÐ
200. (d) çëûyÓÅþ £zöìrÝþöìœ„þ‰%þëûyœ ²Ìþ™y!ÝÅþ övþ 26 ~!²Ìœ þ™yœ˜ „þîûy

£œÐ ~£z !”îöì¢îû ~îŠéöìîûîû !í›éôô 'IP and Small and
Medium sized Enterprises (SMEs) : Taking Your
ideas to market'.

——————


